

Journal of Advances in Mathematics and Computer Science

Volume 38, Issue 11, Page 87-94, 2023; Article no.JAMCS.109457 ISSN: 2456-9968

(Past name: British Journal of Mathematics & Computer Science, Past ISSN: 2231-0851)

The Matrix Representation of Quasi Centroids of Heisenberg Superalgebra

Ruhui Yang $^{\rm a}$ and Keli Zheng $^{\rm a^*}$

^aDepartment of Mathematics, School of Science, Northeast Forestry University, Harbin 150040, China.

Authors' contributions

This work was carried out in collaboration between both authors. Both authors read and approved the final manuscript.

Article Information

DOI: 10.9734/JAMCS/2023/v38i111847

Open Peer Review History:

This journal follows the Advanced Open Peer Review policy. Identity of the Reviewers, Editor(s) and additional Reviewers, peer review comments, different versions of the manuscript, comments of the editors, etc are available here: https://www.sdiarticle5.com/review-history/109457

Original Research Article

Abstract

This article studies the matrix representation of the quasi-centroids of Heisenberg superalgebras. Based on the definition of Heisenberg superalgebras and quasi-centroids, a matrix representation of quasicentroids of Heisenberg superalgebras with even center is studied by using the method of solving system of linear equations and supersymmetry operation of Lie superalgebras. Finally, a matrix representation of the quasi centroids of a Heisenberg superalgebra with an odd center is obtained through similar calculations.

Keywords: Heisenberg superalgebra; quasi centroid; matrix representation.

2020 Mathematics Subject Classification: 17B40, 17B05.

Received: 27/09/2023 Accepted: 01/12/2023 Published: 11/12/2023

^{*}Corresponding author: E-mail: zhengkl@nefu.edu.cn;

J. Adv. Math. Com. Sci., vol. 38, no. 11, pp. 87-94, 2023

1 Introduction

Lie superalgebras are closely linked to Lie algebras, which are highly significant in physics and other areas of mathematics ([1]). In 1967, physicist Stawraki proposed the concept of Lie superalgebras as a natural extension of Lie algebras. These originated from supersymmetry in mathematical physics, and with the support of physical background, the study of Lie superalgebra theory received increasing attention from researchers. A Lie superalgebra is a specific type of \mathbb{Z}_2 -graded algebra, with its even part being a Lie algebra and its odd part being an adjoint module of the even part ([2]). Similar to the study of Lie groups, Lie superalgebras are linear objects of Lie supergroups. As a generalization of Lie algebras, the theory of Lie superalgebras is an essential part of Lie theory, with numerous applications in other related branches of mathematics ([3]).

The field of Lie superalgebras has seen significant progress in terms of structure and representation. In reference [4], the derivation superalgebra and local derivation superalgebra definitions, along with the modular Lie superalgebra structure, are used to determine the specific forms of the derivation superalgebra and local derivation superalgebra. Key elements are calculated to arrive at this conclusion. Additionally, some outer superderivations of the modular Lie superalgebras are presented, and it is established that these are all of their outer superderivations. It is also proven that the local superderivations of the linear Lie superalgebras are all superderivations.

Lie superalgebras are essential in theoretical Physics and Mathematics. Depending on the base field's unique characteristics, Lie superalgebras can be categorized into modular and non-modular Lie superalgebras. When it comes to modular Lie superalgebras, analyzing the related theories directly can be changed. Hence, it becomes crucial to establish a constraint structure on the studied Lie superalgebras and employ the related theories of restricted Lie superalgebras for further research ([5]).

This article explores the relationship between linear transformations on Heisenberg superalgebras and matrices to find the quasi-centroid matrices of (2n + 3)-dimensional Heisenberg superalgebras. Section 1 is the introduction. Section 2 contains important definitions and symbols needed for the calculations. The main part of the paper is in section 3, where we determine the block matrix representations of the quasi-centroids of (2n + 3)-dimensional Heisenberg superalgebra using the method of solving systems of linear equations, as defined in the quasi-centroid of Heisenberg superalgebra.

2 Preliminaries

All Heisenberg Lie superalgebras are categorized based on the number of centers they have. They are divided into two types - even and odd Heisenberg Lie superalgebras.[6]

Definition 2.1. ([1]) Definition of Lie superalgebra: Let $L = L_0 \oplus L_1$ be a Z_2 - order linear space, if any Z_2 -homogeneous element satisfies super antisymmetry,

$$[x, y] = -(-1)^{d(x)d(y)}[y, x],$$

and Jacobi superidentity

$$(-1)^{d(z)d(x)}[x,[y,z]] + (-1)^{d(x)d(y)}[y,[z,x]] + (-1)^{d(y)d(z)}[z,[x,y]] = 0,$$

It is called a Lie superalgebra. The x,y,z are homogeneous elements in Lie superalgebra, which are the degree of order.

Definition 2.2. ([1]) If L is a complex Lie superalgebra, then

$$\Gamma_{\theta}(L) = \left\{ f \in End_{\theta}(L) | f[x, y] = [f(x), y] = (-1)^{d(x)d(f)} [x, f(y)], x, y \in L, \theta \in Z_2 \right\}$$

is the Z_2 - order centroid on L;

$$Q\Gamma_{\theta}(L) = \left\{ f \in End_{\theta}(L) | f[x, y] = (-1)^{d(x)d(f)} [x, f(y)], x, y \in L, \theta \in Z_2 \right\}$$

is called the Z_2 -order quasi centroid on L, where $End_{\theta}(L)$ represents the set of all Z_2 -order linear transformations in L.

Note: For any $f \in End_{\theta}(L)$, if $\theta = \overline{0}$, then f is called an even transformation, that is $d(f) = \overline{0}$; If $\theta = \overline{1}$, f is called an odd transformation, that is $d(f) = \overline{1}$.

([7]) Heisenberg Lie superalgebras can be divided into Heisenberg Lie superalgebras with even centers $H_{m,n}$ and Heisenberg Lie superalgebras with odd centers H_n :

1) $H_{m,n} = (H_{m,n})_{\overline{0}} \oplus (H_{m,n})_{\overline{1}}$. The standard basis is:

 $\{u_1, \cdots, u_m, u_{m+1}, \cdots, u_{2m}, z | w_1, \cdots, w_n\},\$

Nonzero Lie superoperation:

$$[u_i, u_{m+i}] = z = [w_j, w_j], \forall i = 1, \cdots, m, j = 1, \cdots, n.$$

2) $H_n = (H_n)_{\overline{0}} \oplus (H_n)_{\overline{1}}$ The standard basis is: $\{v_1, \dots, v_n | z, w_1, \dots, w_n\}$, Nonzero Lie superoperation: $[v_i, w_i] = z, \forall i = 1, \dots, n$.

3 Main Conclusion and Proof

If the center c is element of $H_{\overline{0}}$, then the matrix representations of quasi-centroid of Heisenberg superalgebra are as follows.

1	Λ	A	B	α
	C	D	E	β
	F	G	H	γ
	0	0	0	$k_{2m+3,2m+3}$ /

where $\Lambda = diag(a, -a)$, $a \in \mathbb{C}$, A and B are $m \times 2$ matrices, C and F are $2 \times m$ matrices, and $C = B^T$, $F = -A^T$. D, E, G, H are $m \times m$ matrices, $H = D^T$, $U^T = -U$, $X^T = X$, α, β, γ are 2, m, m dimensional column vectors, respectively.

Proof. Let $\{s_1, t_1\}$ be a base of $H_{\overline{1}}$ and $\{x_1, x_2, \cdots, x_m, y_1, y_2, \cdots, y_m, c\}$ a base of $H_{\overline{0}}$ Then $\{s_1, t_1, x_1, x_2, \cdots, x_m, y_1, y_2, \cdots, y_m, c\}$ is a base of H.

There are linear equations as follows.

$$\begin{aligned} Q(s_1) &= k_{11}s_1 + k_{12}t_1 + \sum_{j=1}^m \left(k_{1,j+2}x_j + k_{1,j+2+m}y_j\right) + k_{1,2m+3}c, \\ Q(t_1) &= k_{21}s_1 + k_{22}t_1 + \sum_{j=1}^m \left(k_{2,j+2}x_j + k_{2,j+2+m}y_j\right) + k_{2,2m+3}c, \\ Q(x_1) &= k_{31}s_1 + k_{32}t_1 + \sum_{j=1}^m \left(k_{3,j+2}x_j + k_{3,j+2+m}y_j\right) + k_{3,2m+3}c, \end{aligned}$$

 \vdots $Q(x_m) = k_{m+2,1}s_1 + k_{m+2,2}t_1 + \sum_{\substack{j=1\\m}}^m (k_{m+2,j+2}x_j + k_{m+2,j+2+m}y_j) + k_{m+2,2m+3}c,$ $Q(y_1) = k_{m+3,1}s_1 + k_{m+3,2}t_1 + \sum_{\substack{j=1\\j=1}}^m (k_{m+3,j+2}x_j + k_{m+3,j+2+m}y_j) + k_{m+3,2m+3}c,$

$$Q(y_m) = k_{2m+2,1}s_1 + k_{2m+2,2}t_1 + \sum_{\substack{j=1\\m}}^m \left(k_{2m+2,j+2}x_j + k_{2m+2,j+2+m}y_j\right) + k_{2m+2,2m+3}c,$$

$$Q(c) = k_{2m+3,1}s_1 + k_{2m+3,2}t_1 + \sum_{\substack{j=1\\m}}^m \left(k_{2m+3,j+2}x_j + k_{2m+3,j+2+m}y_j\right) + k_{2m+3,2m+3}c.$$

According to algorithms on Heisenberg superalgebra:

 $\mathbf{i} \ [s_i, t_j] = [t_j, s_i] = \delta_{ij} c.$

i $[x_i, y_j] = [v_j, s_i] = o_{ij}c$. ii $[x_i, y_j] = -[y_j, x_i] = \delta_{ij}c$. iii $[s_i, s_j] = [t_i, t_j] = [x_i, x_j] = [y_i, y_j] = [s_i, c] = [t_i, c] = [x_i, c] = [y_i, c] = 0$ and $Q \in EndL = End_{\overline{0}}L \oplus End_{\overline{1}}L$, we have 1. When $Q \in End_{\overline{0}}L$, $dQ = \overline{0}$. At this point, the matrix representations of quasi-centroids of Heisenberg superalgebra are same as that of Heisenberg algebra.

2. When $Q \in End_{\overline{1}}L$, $dQ = \overline{1}$. Definition of the quasimatrix centroid is $[Qx, y] = (-1)^{dxdQ} [x, Qy]$. When replace x with s_1 , it follows that

$$\begin{split} [Q(s_1), s_1] &= -\left[s_1, Q(s_1)\right], \quad \left[Q(s_1), t_1\right] = -\left[s_1, Q(t_1)\right], \quad \left[Q(s_1), x_1\right] = -\left[s_1, Q(x_1)\right], \\ &\vdots \\ [Q(s_1), x_m] &= -\left[s_1, Q(x_m)\right], \quad \left[Q(s_1), y_1\right] = -\left[s_1, Q(y_1)\right], \\ &\vdots \\ [Q(s_1), y_m] &= -\left[s_1, Q(y_m)\right], \quad \left[Q(s_1), c\right] = -\left[s_1, Q(c)\right]. \end{split}$$

i.e.

$$\begin{bmatrix} k_{11}s_1 + k_{12}t_1 + \sum_{j=1}^m \left(k_{1,j+2}x_j + k_{1,j+2+m}y_j\right) + k_{1,2m+3}c, s_1 \end{bmatrix}$$

= $-\begin{bmatrix} s_1, k_{11}s_1 + k_{12}t_1 + \sum_{j=1}^m \left(k_{1,j+2}x_j + k_{1,j+2+m}y_j\right) + k_{1,2m+3}c \end{bmatrix}$,
 $\begin{bmatrix} k_{11}s_1 + k_{12}t_1 + \sum_{j=1}^m \left(k_{1,j+2}x_j + k_{1,j+2+m}y_j\right) + k_{1,2m+3}c, t_1 \end{bmatrix}$
= $-\begin{bmatrix} s_1, k_{21}s_1 + k_{22}t_1 + \sum_{j=1}^m \left(k_{2,j+2}x_j + k_{2,j+2+m}y_j\right) + k_{2,2m+3}c \end{bmatrix}$,
 $\begin{bmatrix} k_{11}s_1 + k_{12}t_1 + \sum_{j=1}^m \left(k_{1,j+2}x_j + k_{1,j+2+m}y_j\right) + k_{2,2m+3}c, x_1 \end{bmatrix}$
= $-\begin{bmatrix} s_1, k_{21}s_1 + k_{22}t_1 + \sum_{j=1}^m \left(k_{1,j+2}x_j + k_{1,j+2+m}y_j\right) + k_{1,2m+3}c, x_1 \end{bmatrix}$

$$\vdots \\ \left[k_{11}s_1 + k_{12}t_1 + \sum_{j=1}^m \left(k_{1,j+2}x_j + k_{1,j+2+m}y_j \right) + k_{1,2m+3}c, x_m \right] \\ = -[s_1, k_{m+2,1}s_1 + k_{m+2,2}t_1 + \sum_{j=1}^m \left(k_{m+2,j+2}x_j + k_{m+2,j+2+m}y_j \right) + k_{m+2,2m+3}c], \\ \left[k_{11}s_1 + k_{12}t_1 + \sum_{j=1}^m \left(k_{1,j+2}x_j + k_{1,j+2+m}y_j \right) + k_{1,2m+3}c, y_1 \right] \end{cases}$$

90

$$= -[s_1, k_{m+3,1}s_1 + k_{m+3,2}t_1 + \sum_{j=1}^m (k_{m+3,j+2}x_j + k_{m+3,j+2+m}y_j) + k_{m+3,2m+3}c],$$

$$\vdots$$

$$\begin{bmatrix} k_{11}s_1 + k_{12}t_1 + \sum_{j=1}^m (k_{1,j+2}x_j + k_{1,j+2+m}y_j) + k_{1,2m+3}c, y_m \end{bmatrix}$$

$$= -[s_1, k_{2m+2,1}s_1 + k_{2m+2,2}t_1 + \sum_{j=1}^m (k_{2m+2,j+2}x_j + k_{2m+2,j+2+m}y_j) + k_{2m+2,2m+3}c],$$

$$\begin{bmatrix} k_{11}s_1 + k_{12}t_1 + \sum_{j=1}^m (k_{1,j+2}x_j + k_{1,j+2+m}y_j) + k_{1,2m+3}c, c \end{bmatrix}$$

$$= -[s_1, k_{2m+3,1}s_1 + k_{2m+3,2}t_1 + \sum_{j=1}^m (k_{2m+3,j+2}x_j + k_{2m+3,j+2+m}y_j) + k_{2m+3,2m+3}c].$$

Solving the above system of linear equations yields

$$k_{12} = k_{2m+3,2} = 0, \quad k_{11} = -k_{22}, \quad k_{1,m+3} = k_{32}, \cdots, k_{1,2m+2} = k_{m+2,22},$$

$$k_{13} = -k_{m+3,2}, \cdots, k_{1,m+2} = -k_{2m+2,2}.$$

Similarly, when replace x with $t_1, x_1, x_2, \cdots, x_m, y_1, y_2, \cdots, y_m, c$, we obtain that

$$k_{21} = k_{3,m+3} = k_{m+2,2m+2} = k_{m+3,3} = k_{2m+3,3} = k_{2m+2,m+2} = k_{2m+3,1} = \dots = k_{2m+3,m+2} = k_{2m+3,m+3} = \dots = k_{2m+3,2m+2} = 0.$$

$$k_{23} = -k_{m+3,1}, \cdots, k_{2,m+2} = -k_{2m+2,1}, k_{2,m+3} = k_{31}, \cdots, k_{2,2m+2} = k_{m+2,1},$$

$$k_{33} = k_{m+3,m+3}, \cdots, k_{3,m+2} = k_{2m+2,m+3}, \quad k_{3,m+4} = -k_{4,m+3}, \cdots, k_{3,2m+2} = -k_{m+2,m+3},$$

$$k_{m+2,3} = k_{m+3,2m+2}, \cdots, k_{m+2,m+2} = k_{2m+2,2m+2}, \quad k_{m+3,4} = k_{m+4,3}, \cdots, k_{m+3,m+2} = k_{2m+2,3},$$

It follows from above results that the matrix representations of quasi-centroid of the Heisenberg superalgebra are

$$\left(\begin{array}{cccc} \Lambda & A & B & \alpha \\ C & D & E & \beta \\ F & G & H & \gamma \\ 0 & 0 & 0 & k_{2m+3,2m+3} \end{array}\right)$$

where $\Lambda = diag(a, -a)$, $a \in \mathbb{C}$, A and B are $m \times 2$ matrices, C and F are $2 \times m$ matrices, and $C = B^T$, $F = -A^T$. D, E, G, H are $m \times m$ matrices, $H = D^T, U^T = -U, X^T = X, \alpha, \beta, \gamma$ are 2, m, m dimensional column vectors, respectively.

If the center c is an element of $H_{\overline{1}}$, then the matrix representations of quasi-centroid of the Heisenberg superalgebra are as follows.

$$\left(\begin{array}{cccc} k_{11} & 0 & 0 & 0\\ \alpha & \Lambda & A & B\\ \beta & C & D & E\\ \gamma & F & G & H\end{array}\right)$$

where α, β, γ are 2, m, m dimensional column vectors, $\Lambda = diag(a, -a), a \in \mathbb{C}$, A, B are $2 \times m$ matrices, C, F are $m \times 2$ matrices, $C = B^T, A = \begin{pmatrix} I \\ J \end{pmatrix}$, $F = \begin{pmatrix} -J^T & I^T \end{pmatrix}$, D, E, G, H are $m \times m$ matrices, $H = D^T$, $G^T = -G$, $E^T = -E$.

Proof. Let $\{c, s_1, t_1\}$ be a base of $H_{\overline{1}}$ and $\{x_1, x_2, \cdots, x_m, y_1, y_2, \cdots, y_m\}$ a base of $H_{\overline{0}}$, then $\{c, s_1, t_1, x_1, x_2, \cdots, x_m, y_1, y_2, \cdots, y_m\}$ is base of H. According to linear equations

$$\begin{aligned} Q(c) &= k_{11}c + k_{12}s_1 + k_{13}t_1 + \sum_{j=1}^{m} \left(k_{1,j+3}x_j + k_{1,j+m+3}y_j \right) + k_{1,2m+3}y_m, \\ Q(s_1) &= k_{21}c + k_{22}s_1 + k_{23}t_1 + \sum_{j=1}^{m} \left(k_{2,j+3}x_j + k_{2,j+m+3}y_j \right) + k_{2,2m+3}y_m, \\ Q(t_1) &= k_{31}c + k_{32}s_1 + k_{33}t_1 + \sum_{j=1}^{m} \left(k_{3,j+3}x_j + k_{3,j+m+3}y_j \right) + k_{3,2m+3}y_m, \\ Q(x_1) &= k_{41}c + k_{42}s_1 + k_{43}t_1 + \sum_{j=1}^{m} \left(k_{4,j+3}x_j + k_{4,j+m+3}y_j \right) + k_{4,2m+3}y_m, \end{aligned}$$

$$Q(x_m) = k_{m+3,1}c + k_{m+3,2}s_1 + k_{m+3,3}t_1 + \sum_{\substack{j=1\\j=1}}^m (k_{m+3,j+3}x_j + k_{m+3,j+m+3}y_j) + k_{m+3,2m+3}y_m,$$

$$Q(y_1) = k_{m+4,1}c + k_{m+4,2}s_1 + k_{m+4,3}t_1 + \sum_{\substack{j=1\\j=1}}^m (k_{m+4,j+3}x_j + k_{m+4,j+m+3}y_j) + k_{m+4,2m+3}y_m,$$

:

:

$$Q(y_m) = k_{2m+3,1}c + k_{2m+3,2}s_1 + k_{2m+3,3}t_1 + \sum_{j=1}^m (k_{2m+3,j+3}x_j + k_{2m+3,j+m+3}y_j) + k_{2m+3,2m+3}y_m.$$

.

and the operation rules on Heisenberg superalgebra are the same as Theorem 3.1, by replacing x with c, we obtain that [O(c), c] = -[c, O(c)] = -[c, O(c), c] = -[c, O(c)]

$$\begin{aligned} &[Q(c),c] = - [c,Q(c)], & [Q(c),s_1] = - [c,Q(s_1)], \\ &[Q(c),t_1] = - [c,Q(t_1)], & [Q(c),x_1] = - [c,Q(x_1)], \end{aligned}$$

$$[Q(c), x_m] = -[c, Q(x_m)], \quad [Q(c), y_1] = -[c, Q(y_1)],$$
$$\vdots$$
$$[Q(c), y_m] = -[c, Q(y_m)].$$

92

$$\begin{bmatrix} k_{11}c + k_{12}s_1 + k_{13}t_1 + \sum_{j=1}^{m} (k_{1,j+3}x_j + k_{1,j+m+3}y_j), c \end{bmatrix}$$

= $-\begin{bmatrix} c, k_{11}c + k_{12}s_1 + k_{13}t_1 + \sum_{j=1}^{m} (k_{1,j+3}x_j + k_{1,j+m+3}y_j) \end{bmatrix}, \cdots (1)$
 $\begin{bmatrix} k_{11}c + k_{12}s_1 + k_{13}t_1 + \sum_{j=1}^{m} (k_{1,j+3}x_j + k_{1,j+m+3}y_j), s_1 \end{bmatrix}$
= $-\begin{bmatrix} c, k_{21}c + k_{22}s_1 + k_{23}t_1 + \sum_{j=1}^{m} (k_{2,j+3}x_j + k_{2,j+m+3}y_j) \end{bmatrix}, \begin{bmatrix} k_{11}c + k_{12}s_1 + k_{13}t_1 + \sum_{j=1}^{m} (k_{1,j+3}x_j + k_{1,j+m+3}y_j), x_1 \end{bmatrix}$
= $-\begin{bmatrix} c, k_{31}c + k_{32}s_1 + k_{33}t_1 + \sum_{j=1}^{m} (k_{3,j+3}x_j + k_{3,j+m+3}y_j) \end{bmatrix}, \begin{bmatrix} k_{11}c + k_{12}s_1 + k_{13}t_1 + \sum_{j=1}^{m} (k_{3,j+3}x_j + k_{3,j+m+3}y_j) \end{bmatrix}, \begin{bmatrix} k_{11}c + k_{12}s_1 + k_{13}t_1 + \sum_{j=1}^{m} (k_{3,j+3}x_j + k_{3,j+m+3}y_j) \end{bmatrix}, \begin{bmatrix} k_{11}c + k_{12}s_1 + k_{13}t_1 + \sum_{j=1}^{m} (k_{3,j+3}x_j + k_{3,j+m+3}y_j) \end{bmatrix}, \begin{bmatrix} k_{11}c + k_{12}s_1 + k_{13}t_1 + \sum_{j=1}^{m} (k_{3,j+3}x_j + k_{3,j+m+3}y_j) \end{bmatrix}, \begin{bmatrix} k_{11}c + k_{12}s_1 + k_{13}t_1 + \sum_{j=1}^{m} (k_{3,j+3}x_j + k_{3,j+m+3}y_j) \end{bmatrix}, \begin{bmatrix} k_{11}c + k_{12}s_1 + k_{13}t_1 + \sum_{j=1}^{m} (k_{3,j+3}x_j + k_{3,j+m+3}y_j) \end{bmatrix}, \begin{bmatrix} k_{11}c + k_{12}s_1 + k_{13}t_1 + \sum_{j=1}^{m} (k_{3,j+3}x_j + k_{3,j+m+3}y_j) \end{bmatrix}, \begin{bmatrix} k_{11}c + k_{12}s_1 + k_{13}t_1 + \sum_{j=1}^{m} (k_{3,j+3}x_j + k_{3,j+m+3}y_j) \end{bmatrix}, \begin{bmatrix} k_{11}c + k_{12}s_1 + k_{13}t_1 + \sum_{j=1}^{m} (k_{3,j+3}x_j + k_{3,j+m+3}y_j) \end{bmatrix}, \begin{bmatrix} k_{11}c + k_{12}s_1 + k_{13}t_1 + \sum_{j=1}^{m} (k_{3,j+3}x_j + k_{3,j+m+3}y_j) \end{bmatrix}, \begin{bmatrix} k_{11}c + k_{12}s_1 + k_{13}t_1 + \sum_{j=1}^{m} (k_{3,j+3}x_j + k_{3,j+m+3}y_j) \end{bmatrix}, \begin{bmatrix} k_{11}c + k_{12}s_1 + k_{13}t_1 + k_{$

$$\begin{bmatrix} k_{11}c + k_{12}s_1 + k_{13}t_1 + \sum_{j=1}^m (k_{1,j+3}x_j + k_{1,j+m+3}y_j), x_m \end{bmatrix}$$

= $-\begin{bmatrix} c, k_{m+3,1}c + k_{m+3,2}s_1 + k_{m+3,3}t_1 + \sum_{j=1}^m (k_{m+3,j+3}x_j + k_{m+3,j+m+3}y_j) \end{bmatrix},$
 $\begin{bmatrix} k_{11}c + k_{12}s_1 + k_{13}t_1 + \sum_{j=1}^m (k_{1,j+3}x_j + k_{1,j+m+3}y_j), y_1 \end{bmatrix}$
= $-\begin{bmatrix} c, k_{m+4,1}c + k_{m+4,2}s_1 + k_{m+4,3}t_1 + \sum_{j=1}^m (k_{m+4,j+3}x_j + k_{m+4,j+m+3}y_j) \end{bmatrix},$
 \vdots

$$\begin{bmatrix} k_{11}c + k_{12}s_1 + k_{13}t_1 + \sum_{j=1}^m (k_{1,j+3}x_j + k_{1,j+m+3}y_j), y_m \end{bmatrix}$$

= $-\begin{bmatrix} c, k_{2m+3,1}c + k_{2m+3,2}s_1 + k_{2m+3,3}t_1 + \sum_{j=1}^m (k_{2m+3,j+3}x_j + k_{2m+3,j+m+3}y_j) \end{bmatrix}$.

By solving the system of linear equations, it follows that $k_{12} = k_{13} = \cdots = k_{1,2m+3} = 0$. Similarly, by replacing x with $s_1, t_1, x_1, x_2, \cdots , x_m, y_1, y_2, \cdots , y_m$, we get

$$\begin{aligned} k_{22} &= -k_{33}, \quad k_{23} = 0, \quad k_{24} = k_{m+4,3}, \cdots, k_{2,m+3} = k_{2m+3,3}, \cdots, k_{2,2m+3} = k_{m+3,3}. \\ k_{32} &= 0, \quad k_{42} = k_{3,m+4}, \cdots, k_{52} = k_{3,m+5}, \cdots, k_{m+3,2} = k_{3,2m+3}, \\ k_{m+4,2} &= -k_{34}, \cdots, k_{2m+3,2} = -k_{3,m+3}. \\ k_{4,m+4} &= 0, \quad k_{4,m+5} = -k_{5,m+4}, \cdots, k_{4,2m+3} = -k_{m+3,m+4}, \\ k_{44} &= k_{m+4,m+4}, \cdots, k_{4,m+3} = k_{2m+3,m+4}. \\ k_{m+3,2m+3} &= 0, \quad k_{m+3,4} = k_{m+4,2m+3}, \cdots, k_{m+3,m+3} = k_{2m+3,2m+3}. \\ k_{m+4,4} &= 0, \quad k_{m+4,5} = -k_{m+5,4}, \cdots, k_{m+4,m+3} = -k_{2m+3,4}. \\ &\vdots \end{aligned}$$

 $k_{2m+3,\,m+3} = 0.$

Therefore, if the center c is an element of $H_{\overline{1}}$, then the matrix representations of quasi-centroid of the Heisenberg superalgebra are as follows.

$$\left(\begin{array}{cccc}k_{11}&0&0&0\\\alpha&\Lambda&A&B\\\beta&C&D&E\\\gamma&F&G&H\end{array}\right)$$

where α, β, γ are 2, m, m dimensional column vectors respectively, $\Lambda = diag(a, -a), a \in \mathbb{C}, A, B$ are $2 \times m$ matrices, C, F are $m \times 2$ matrices, $C = B^T, A = \begin{pmatrix} I \\ J \end{pmatrix}, F = \begin{pmatrix} -J^T & I^T \end{pmatrix}, D, E, G, H$ are $m \times m$ matrices, $H = D^T, G^T = -G, E^T = -E.$

4 Conclusions

The type of this article is Short Research Article. The matrix representations of quasi-centroid of the Heisenberg superalgebra are shown in Theorem 3.1 and Theorem 3.2.

Acknowledgments

The authors give special thanks to referees for many helpful suggestions. This work was supported by the Fundamental Research Funds for the Central Universities (No.2572021BC02) and the National Natural Science Foundation of China (Grant No.11626056).

Competing Interests

Authors have declared that no competing interests exist.

References

- Guo R, Li B, Zheng K. The centroids and quasi centroids of special linear Lie superalgebras of order 4. Mathematics in Practice and Theory. 2022;52(07):233-237.
- [2] Zhao X. Ideal, derivation, and derivation pairs of lie superalgebras. Northeast Normal University; 2022.
- [3] Zheng K. Several structures and representations of lie superalgebras. Northeast Normal University; 2014.
- [4] Zhou M. Local superconductors of lie superalgebras. Heilongjiang University; 2020.
- [5] Zhang C, Yuan J. Superconductors and restricted superconductors of restricted linear Lie superalgebras. Journal of Jilin University (Science Edition). 2022;60(04):861-865.
- [6] Bai W, Liu W. Cohomology of heisenberg lie superalgebras. Journal of Mathematical Physics. 2017;58(2):021701.
- [7] Liu W, Chen M. The minimal dimensions of faithful representations for Heisenberg Lie superalgebras. Journal of Geometry and Physics. 2015;89(1):17-23.

© 2023 Yang and Zheng; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0), which permits unrestricted use, distribution and repro-duction in any medium, provided the original work is properly cited.

Peer-review history:

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)
https://www.sdiarticle5.com/review-history/109457